Math 206 - Quiz 1 Name keg\j
January 18, 2012 Score

Show all work to receive full credit. Supply explanations when necessary. DO NOT USE A
CALCULATOR FOR ANY PART OF THIS QUIZ.

1. (1 point) Wrxte 12345 678 in expanded form
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2. (1 point) Use any method (Not a calculator!) to find the decimal form of the fraction

13
= /3 a5 335 [ ...
10 Lo 22, = | |

Yo ~ a5 Jjooo = |©- 395 |

3. (1 point) Give an example of an irrational number that is only slightly less than your

result from problem #2. e S .
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4. (1 point) Give an example of a whole number that is not a natural number. Give an

example of a rational number that is not an integer.
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5. (1 point) One number below has a terminating decimal form, one has a repeating
decimal form, and one has a non-repeating, non-terminating decimal form. Without
attempting to compute the decimal forms, explain which is which and how you know.
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